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For all questions, answer E. "NOTA" means none of the above.
Figures not drawn to scale.

1. Point B is between A and C. Point D'is between Band C. IBC=xAD =y,
and BA = z, find the lengths of BD and DC, respectively.

.t

A y+z; x-y+z B.yz xyz Coyzxty+tz D yzxy+z E NOTA

2. In the diagram below, mZ1 = 2(m£2), mZ2 + m£3 + m£4 = 150, m«£1 =
mZ4, and ms3 = 30. Find m£1, m£2, and Yarn Z4, respectively.

=
rd

£ A 80,40,20 B. 120,20,30 C. 120,40,30 ‘D. 840,80 E. NOTA

3. The measure of one of two adjacent angles is ten more than twice the measure of
the other. If the sum of their measures is 88, find the difference of three times the
larger angle and two less than the smaller angle.
A 26 B. 62 C. 162 D. 18 E. NOTA

4. The measure of a supplement of an angle is forty more than three times the

measure of its complement. Find the absolute value of the difference between the
supplement and complement of the original angle.

A 25  “B65 ' C. 115 D. 90 E. NOTA
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5. Find the value of x and v, respectivél

Ax*llOy 70 Bx 04, y—8 C

decagon?

A 1404 . B 702 = C. 14

Find the sum of the measures of the?fi'

A

(y + 110)0

If a regular decagon and regular 13-§c
of one side of the 13-gon is 5.4, what i
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is none of the above.

y, in the following diagram:

- O

(x - 4y)
\>
x=8, y=94 D, x=70,y=110 'E. NOTA

in have the same perimeter, and if the length
is the measure of twice a side of the

04 D. 702 E. NOTA

ve angles at the points of this star.

A 360 B 180  C 540

- D. Insufficient information E. NOTA
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For all questions,' answer E. "NOTA" means none of the above.
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8. Given the statement, "If two angles are complementary, then both are acute",
which of the following is the inverse of the converse of this statement.

If two angles are not acute, then both are not complementary.
If two angles are not complementary, then both are not acute.
If two angles are acute, then both are complementary.

If two angles are complementary, then both are not acute
NOTA

mooOw >

9. If you take the contrapositive of the converse, which type of statement do you
obtain?

A. converse B. inverse C. contrapositve D. conditional E. NOTA

10. 1 mZZWX = 4x + 7 and mZWXY = 6x +°3, find 2(m2YXW).
4 Y

o~
C

\'4

A. 105 B 75 C. 210 D. 150 E. NOTA
11.  In a plane, if mZBAD = 65 and m£DAC = 32, what is the mzCAB?

A 33 B. 66 C. 97° . D. 130 E. NOTA
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12, In paralielogram ABCD, find x

B
A. x=35 y=77 B. x=62,y=27 C. x=77, y=35
D. x=27, y=62 E. NOTA
13.  If X and Y are midpoints, AC =4a + 5, and XY = a + .410, find XY.
B
Y
A 'C
A. 375 B. 44.3 C. 7756 D. 75 E. NOTA
14. Points F . G, =and H are midbo ints as Shdwn‘ in the figure. A

IfFG + GH + HF = a + b,

then MA + AT + TM = ?

B. 2(a + b)

- A 2a+b

H
. D. Y(a + b} E. NOTA
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For all questions, answer E. "NOTA" means none of the above.
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15..

16.

17.

ABCD is a parellogram. Points Q, R; S, and T are the midpoints of AB, BC, CD,
and DA, respectively. If ST = 8 and BD = 14, the AC + QT = ?

A 6 B. 24 C. 22 D 23 E. NOTA

Given rectangle MATH. If AX = 7x + 11 and TX = 3x + 83, find AH.

A T
X
‘M H
A 86 B. 18 C. 155 D. 137 E. NOTA

You will improve if you work hard.
The contrapositive of the above statement is:

If you work hard, then you will improve.
If you improve, then you worked hard.
If you do not improve, then you have not worked hard.

If you do not work hard, then you will not improve.
NOTA

mMoUOw®
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18 If mZAFC = 3 mZAFB, /] blsecLs JAFD, and mZAFB = 16, find mZAFD.

16 :
48

96
192
NOTA

moOw>

19. The distance between the centets of the two circles shown having diameter of 6

and 12 is 18. How long is the common internal tangent segment?

A 6 B.oWS C 68

D 33 E NOTA

20. Ifzv=7a+2b,wx='b+és,m:4a-bandvx=a+12,ﬁnda+b.

Y

[
I

z

A 4 B. 0 C. 40 D.

E. NOTA
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21. . In a periscope a pair of mirrors are mounted paréllel to eich other as'shown. The
path of light becomes a transversal. Which pair of angles is an alternate interior

pair? |

A Zland 23 .

B. #1 and 4 g " (P’\l]

C. Z2 and £3 r———

D. £2 and 4 :

E. NOTA

mirror /«'\
a | LY
m s

22. Ifmsl=2x +4, ms5 = 3y + 6, and m22 = 4y +6, find the product of
(ms1, mz2, and m~25) + 2808.

S~
\

ya

~ 1/ 2

{

P 3/ 4 >
5/ 6

A 24 B. 78 ‘ C. 102 D. 221 E. NOTA:
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23.

24,

25.

Given allb, ¢|d, ms£1 = 8x - 2, m.é
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ns none of the above.

11 = 7x + 11, find the sum of the digits'in
both x and m«10. s e
1 /\ 2 3 f 4 |
< — 7> a
:_,  “ ”.9 ‘I 10 1, 12
< b
c 1:-:/ 14 15 [ 16 ?
e d

A19 B 115  C 9 D 102 E NOTA

" A rectangle has a length three tlmes its width. Find the area of a new rectangle if

the original perimeter was 24 and the length is shortened by 2.

A 3 B. 9 C.

A linear pair of angles have measutes

of the measure of the larger angle mi

A1z - B.38 -~ C

21 D

27 E. NOTA

of 2x + 20 and 3x - 30, Find the difference
nus the smaller angle.

. 96 - E. NOTA
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For all questions, answer E. "NOTA" means none of the above.
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26. In triangle ABC, angle Alis congfuent to angle C I[fAB = 4x + 25, BC =2x +
45, and AC = 3x - 15, find the length of the shortest side. ‘ o

A1 B15 -cC3 D6 ENOIA

27 aHGJ is a right triangle. HGIBE, HG = 9, BE = 4 and G = 13. Find Ed.
H

A5 B. 52/9 C. 689 D.38 E. NOTA

28.  Find the measure of each interior angle of a regular 15-gon.

A. 156 degrees B. 78 degrees C. 24 degrees D. 180 degrees E. NOTA
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29.

30.

¢ o/ BFC =3 mZAFB, m/CFD = 4 mZAFB, and mZAFD = (mZAFB)* - 240,

find mZAFB.

A 20
B. -12
C. 20, -12

Find the measure of the angle.

A 102 B. 78 C. 57

The measure of an angle is twéﬁty-ffddr more than the measure of its supplement.

E. NOTA






